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ENGLISH LANGUAGE 6. ‘R ey [T TTHIIAE?
d: (A) T (B) TERA
Find the correctly spelt WO (C) TE=RA (D) wR=EM-
(A) Enemity .
(8) Postphone 7. 'qwﬂﬂﬂmﬁ'mﬁﬁwm%?
(C) Ninty (A)y &aTe (8) -‘r@m
«(D) Normalcy (C) frgw (D) weavaTt
te - '
Fill in the blank with appropi? 8. PeRfmEdd STET PTE EENT A B H
preposition : with T R ga- o~
He would fly ______ the door (A) Pref (8) fa=
helping precipitation. (C) TEr (D) U wH
\A) from
(8) to ,/l’ 9, ‘HAe@vs ATFWMATAE?
(C) through (A) faT (B) ﬂgiﬂ'f?
(D) across . (C) wgod (D) &7
Choose the word that best expresses e
the meaning of the underlined word 10. (:"A' )El lm” T HE ,T;T ?;:a:
The honeymoon period for the new
government Is over. (C) wwm (D) Sfmm
(A) Inexperience 11. 3FY =X F 9 faem v e ?
(8) goodwill (A) T4 (8)
(C) confidence {
(D) grace (C) & (D) @@
Select the substitution that best 2. R F WRE W F A T w
expresses opposite meaning of the IR T 1€ ?
underlined word : (A) &= (B) dTg
His speeches were [nsipid. (C) =nfaa (D) wvE "
(A) informative R
1B) Inslghtful 13, Fﬁ’rﬁmmmwmqqqmwt?
(C) lively (A) wEpd (B) 3w
(D) shocking (C) | (D) uret
Choose an alternative which &an 14. W*Fmaﬁammw??
replace the given words or sente (A) T Fwwar
so as to communicate the sap, (B) V@ H UF AR
meaning : - (C) Wﬁqﬁ@ﬂﬂ'
A person who has unusual T
remarkable abllitles. " (D) r 5w am
(A) freak (B) marvel 15. & 9= & 999 ¥¢ -
iC) fraud (D) prodigy (A) TEuit (B) Wil
(©) it (D) fefor
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In which one of the following states
Prime Minister launched the ‘Pradhan
Mantri Ujjwala Yojana’ on May 1,
20167

(A) Madhya Pradesh
(B8) Uttar Pradesh
(C) Gujarat

(D) None of these

0l

Which one of the following describes -

water as a resource 7

(A) Ablotic Resource

(B) Blotic Resource

(C) Non-renewable Resources
(D) Cyclic Resource
Where Is Kaziranga  Wildlife
Sanctuary situated ?

(A) North Sikkim

(B) Assam

(C) Rajasthan

(D) West Bengal (India)

Which of the following was a

recommendation of  Hunter's

Commission ?

(A) Introduction of civic education
at college and unlversity level

(8) New regulation for the
organized senates system

(C) Gradual withdrawal of state
support from higher education

(D) Women's education

Parliamentary form of government
first evolved In

(A) The United States
(8) Rome
(C) Greece
(D) Britain
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22,

23,

24,

26.

27.

9,11, 33,13, 15,33,17, » -

Complete the serles. .
(A) 19,33 (8) 33, 3:
(C) 33,19 (D) 15,3

QpPo,NML kI, EDC
Fill In the blank.
(A) HGF

(C) JKL

(B) CAB
(D) GHI

Which word does not belong with
the others ?

(A) Tulip (8) Rose
(C) Bud

Yard Is to inch as quart Is to

(A) Gallon (B) Ounce
(C) Milk (D) Uquid

There are five different houses, Ato
E, in a row. A is to the right of B and
E Is to the left of C and right of A. B [
to the right to D. Which of the
houses Is in the middle ?

(A) A (8) B

(C) D (0) E

Alfred buys an old scooter for ? 4700
and spends ¥ €00 on Its repalrs, |f he
sells the scooter for ¥ 5800, his galn
percent is

4 5
(A) 4;% (B) SH %
(C) 10% (D) 12%

The average of 11 results Is 50, the
average of first six results |s 49 3

that of last six Is 52, find the St
result.
(A) S6
(C) 52

(B) 46
(D) 59

21,

24,

26.

27.

9,11, 33,13, 15,33, 17, ..
ﬁ“ﬂ'ﬁ‘{'ﬂﬁl AT
(A) 19,33 (B) 33,35

(C) 33,19 (D) 15,33
QPO,NML,KIl,___ Epc.

Rew wm A gfd =¥

{A) HGF (B) cas

" (C) JKL (D) GHI

T W A A w2 g

(A) egfem (8) T

(€) wh (D) ¥=h

T e 7R ¥ 39 QA Wik & @
TR | WE Gl &

(A) Her (8) aiw

() 3 (0) == |
Wi FAAETa T TwRE 14,83
T AR e ARE, cH i siRaarA S

SRR € 18,0 ¥l aiv & 1 T
WA A7
(A) A
(€) o

(B) B
(D) €

TSP % TR ¥ X 4700 3 @l
& T X 800 TReR W e e & 1 7R

qE ST THeX 1 T 5800 A 4w X ot o
e st e e 2

(A) 4%%. (8) 5> o

11
(C) 10% (D) 12%

11 qRomi} o1 ahw S0 & | AR wEA 6
oRom @1 v 49 ®) afR siftm 6T
52 B, = vl aRoms s AR |

(A) 56 (B) 46
(€) s2 (D) 59
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Find the HCF of 22x3*x7%,2'x3'x7.

(A) 128 (8) 126 -
(C) 14620 (D) 434
A

Z| =[=| .,thenxlsequalto
b): \a :
(A) 1.5 (B) 4.5

(c) 7.5 (D) 9.5

A dog takes 3 leaps for every 5 leaps
of hare. If one leap of the dog Is
equal to 3 leaps of the hare, the ratio
of the speed of the dog to that of the
hare Is

(A) 4:5
(C) 8:5

(B) 9:5
(D) 9:2

Which Is the largest living bird on
Earth?

(A) Emu

(C) Albatross

(8) Ostrich
(D) Siberian Crane

Which part becomes modifiad as the
tusk of elephant ?

(A) Canine (8) Premolar
(C) Second Incisor (D) Molar

The phenomenon of light assoclated
with the appearance of blue colour
of the sky is

(A) Interference
(C) Refraction

(B) Reflection
(D) Scattering

The element which Is used for
vulcanizing rubber

(A) Sulphur
(C) Silicon

(B) Bromine
(D) Phosphorus

Sound waves with frequency greater
than 20000 Hz is

(A) Sonic
(C) Infrasonic

(B) Ultrasonic
(D) Subsonic
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35,

21x3?x 73,2 X3'XT T AR, 3w
AT |

128 (B) 126
{é} 14620 (D) 434
-2 b ¥-?
(EJ =(—) TAXBIAE
b a
(A) 1.5 (B) 4.5
(C) 7.5 (D) 9.5
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(a) 4:5 (B) 9:5.
(C) 8:5 (D) 9:2
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(A) T (8) g
(C) T (D) W IRE

B 1A N & Tea & w9 F g
7

(A) &= (B) rmadus
(C) STudFas  ..(D) wdvm
T 3 e T vwe 2 ¥ w9 dale
waTa B gRuen & |

(A) @fowma (B) Wi

(C) Imael (D) waifq

(A) W (B) wnfly

(C) Fufermia (D) wiewRw
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(A) s (B) Wiy

(C) s (D) smafys



36.

37.

39.

41.

42.

ted
Which cricket player Is associa

with Pataudi town ?

(A) Kapll Dev

(B) Nawab Mansoor All
(C) Virendra Sehwag
(D) Ajay Ratra

Who founded the Haryana Vikas
Party ?

(A) Bansilal

(B) DevilLal

(C) Bhajan Lal

(D) Bhagwat Dayal

The construction of fort in Gohana
was done by which King ?

(A) Akbar

(B) Hemchandra -

(C) Harshvardhan

(D) Prithviraj Chauhan

Pt. Jasra), the classical musician, vizs
born in

(A) Mathura
(C) Kashi

(B) Vrindavan
(D) Hisar

Ratnavali Is well-known creation of
(A) Jayadeva

(8) Banabhatta

(C) Madhavacharya

(D) Harsha

From where, Sir Chhotu Ram obtajq hls
Law Education ?

(A) Agra College

(B) Meerut University

(C) Peshawar University

(D) Jalpur University

The Shelkh Chllli's tomb Is sity,
In which of the following placeg of
Haryana ?

(A) Panipat
(C}) Thanesar

(B) Sonipat
(D) Hans

36.

37.

38.

39.

40.

41,

42,

I TR ¥ 5 v Red w
waa

(A) sRa3m

(B) <7919 %[ eI

(C) &= wwam

(D) 3r=rg I

wRarn e ardt @ wroen e g
(A) dfere (8) 2drara
(C) Foard (D) =Taq g

Tirgrn ¥ R w1 Brfor Rt 31 3 g

4. ORI, WA WS 1 9 TE

¥ BT 3 D1 ) Rren e 3
N7

(A) TR Ticw

(B) s favaferem

(C) YR Rafaey

(D) R Reafiaremg

¥ra fyelt o waaw o ¥ P A
e R REEr
(A) grfige
(C) wmwR

(8) <viud
(0) 'R
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On which date Haryana Government
launched the Cattle Insurance
Scheme (Pashudhan Bima Yojana) ?
(A) 29" July, 2016

(B) 1" August, 2016

(C) 31" March, 2016

(D) None of these

The West Yamuna Canal is carved at
which place from river Yamuna ?

(A) Salhavas

(8) Karnal

(C) Tajewala (Huthnlkund Barrage)
(D) Bhakra-Nangal

First ever Sainlk School of Haryana
was established at
(A) Hisar

(C) Madhuban

(8) Kunjpura
(D) Manesar

In the Haryana state, the largest holy
lake which is covered from all four
sides with masonry work

(A) Kapal Mochan

(B) Phalgu Sarovar

(C) Sannihit Sarovar

(D) Brahma Sarovar

The last King of Ballabhgarh, who
shows bravery in independence war
of 1857, was

(A) Vijay Singh
(C) Pratap Singh

(B) Nahar Singh
(D) Mehar Singh

Largest cattle farm is situated in
which city of Haryana ?

(A) Karnal (B) Panipat
(C) Sonipat (D) Hisar
Which of the following was

constructed by Tomar King In
Haryana ?

(A) Surajkund

(B) Sohnakund

(C) Shah Jahan Ki Baoli

(D) None of these

43.

45.

46.

47.

49,

eRan wER 7 5w o’ LEoe
MDA IE D 2

(A) 29 FeTTE, 2016

(B) 137w, 2016

(C) 31Wd, 2016

(D) FTHADE Tl

ofeadt T TER e = | T )
Clecacikiid g

(A) wTeETarE

(8) TR

(C) g @RS W)

(D) @I

ERarn &1 999 wEa 9T wod aE
w_ifta &7

(A) fRr (8) FwigT

(C) wgaw (D) AR
gRaen @1 9 e, R e @
YT 1 g IRE R s g 2
(A) FUE HET

(B) B[R
. (C) wf+fe admw

(D) @& ¥R

T B AT N R 1857 F
A I e w1 gfitag R

(A) forafe (8) =Texfdw

(C) wamfhe (D) ==fhe
gﬁwmmm#ﬂmw

&7

(A) Fvma (8) uritum

(C) wrirga (D) R

TR A a3 AR Prefifa i @
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(A) ToFs

(8) wrErTES

(C) wEwrE 7 )
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50.

51.

52.

53.

55.

56.

57.

" In Haryana' Government W

the Minlstry of Industrle
Commerce,  Environment a
Industrial Tralning ?

(A) Vipul Goyal

(B) Manish Grover

(C) Banwari Lal

(D) None of these

First of all Lord Macaulay shown
stringency on which of the following

language ?
(A) Tamil (B) Sanskrit
(C) Urdu “(D) Hindl

In Vidhan-Sabha election of 1937,
which party recelved highest seats ?
(A) Congress

(B) Unionist

(C) Independent

(D) Hindu Mahasabha

The Government of Haryana Is going
to develop new Industrial township
in at 5 blllion dollars.
(A) Gurgaon (B) Rohtak
(C) Kurukshetra (D) Jhajiar

Which factory Is established jn

Bahauli, Panipat ?

(A) Fertilizers

(8) Sugar mlill

(C) Cement

(D) Oll Refinery of
Corporation Limited

lndian oil

Golf Ground of Aravalll Is formeq in
which district of Haryana ?

(A) Mahendragarh (B) Reway

(C) Bhiwani (D) Faridap,,
Which was the most im
structure found at MohenJo-Da?:nam

(A) Great-bath  (B) Tower
(C) Palace (D) Temple

In which language were the Veg
composed ?
(A) Pali

(C) Sanskrit

as

(B) Prakriy
(D) Tamil

50.

51,

52,

54,

55.

56.

57.

Ramn WER F U T -afey,
frar TR E?

(A) forger aa

(8) Tu AR

(C) THERIaTd

(D) T A &g el

A e A wdwan R oAm W

FoRTH f&an 7

(A) afra (B) w&pa

(c) =% (0) f&=i

1937 & faum-wr1 g9 A i v |

waifa® e frch 2

(A) widg (8) gfmafre

(C) W= (D) fe=g #ETem

R e ¥ 5 fafeaw

ST & ¢ e TR-EE 7 R

T AL

(A) TR (B) gaw

(C) Tw= (D) FAw™R

;ﬁmf}?mﬂﬁlﬁaﬂﬂmmm

X7

(A) Sh®

(B) i fre

(C) =

(D) WRdR dF Frmm fafes & O
Rerel

IRTTE) 1 Tew e wfaon ¥ e
Prsiam &2

(A) Mg (8) Yar

(C) frarh (D) TTER
M-I 3 T B < Bt &
TR ey & 7

(A) WRAFMR - (B) efR

(C) “ea (D) R
ﬁa‘inﬂmhmmmﬁ'géan?

(A) wify (B) wig

(C) <iwgpm (D) afire
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What Is the southern-most latitude of
mainland of India ?

(A) 37°8’'N latitude

(B) 8°4’slatitude

(C) 8°6'S latitude

(D) 8°4'N latitude

Which one of the following Is a land-
locked State ?
(A) Gujarat

(C) West Bengal

(B) Odisha
(D) Bihar

Who was the President of the
Constituent Assembly ?

(A) Jawaharlal Nehru

(8) Dr. Rajendra Prasad

(C) Dr.B.R. Ambedkar

(D) Dr. Radhakrishnan

In which year were the Indian states
reorganised on a linguistic basis ?

(A) 1947 (B) 1951

(C) 1952 (D) 1956

In which year did India become a
member of the International

Monetary Fund (IMF) ?
(A) 1945 (8) 1950
(c) 1951 (D) 1952

Which authority Issues one-rupee
notes and one-rupee coins ?

(A) The Reserve Bank of India

(8) The State Bank of Indla

(C) The Finance Ministry

(D) The President

How many spokes are there In the
‘Chakra’ (wheel) of our National Flag ?
(A) 12 (B) 24
(c) 30 (D) 16

What Is the ratio between the width
and the length of our National Flag ?
(A) 1:2 (B) 1:4
(C) 2:5 (D) 2:3

b

S8.

59.

61.

62.

63.

- 65,

&7

(A) 37°8'N 3wt
(B) 8°'S eI
(C) 8°6'S I
(D) 8°4'N IS

A ABFTAE LT TR £ 2
(A) ORI (8) ahfsmm
() wRmdma (D) REw

AR | T SIE FF 412
(A) TATERTTA TEH

(B) . T T

(€) . NIR.I=TTR

(D) 3. ETFErE

AR T DY FTAR AR W g
forer o Rmm @ a7
(A) 1947
(C) 1952-

(8) 1951
(D) 1956

e od & wRa SR 21 A (V)

"TUE A 17

(A) 1945
(C) 19851

(B) 1850
(D) 1852

TT Y ¥ e 9 U@ 392 & s

TR T & e fR €7

(A) ety Rord 4@ P
(B) MRATRE 4T .
(C) for =g

(D) rgafa
Fqﬁmmﬁﬁi'ﬂﬁ‘ﬁﬂﬁﬁm
(v £ 2

(A) 12 (B) 24

(€) 30 (D) 16
mmmnﬁmaﬁ?aﬂﬁﬁ
WN-]QI(IQ?

(A) 1:2 (B) 1:4
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66.

67,

70.

71,

72,

73,

3 the
In which General Election wa

ballot paper introduced In India

(A) 1956 (8) 1962

(C) 1969 (0) 1977
cguntrv's

In which language was the
first vernacular newspaper p
In18187

(A) Gujaratl
(C) Marathi

ublished

(8) Bengall
(D) Urdu

Who was appolnted as the first LBW
Minister of Independent India ?

(A) Dr. John Mathai

(B) Rafi Ahmed Kidwal

(C) DOr.B.R. Ambedkar

(D) N.V. Gadgll

When did the Maharaja of Kashmir
signed the Instrument of Accession
with the Government of India ?

(A) August 15,1947

(B) September1, 1947

(C) October 26, 1947

(D) October 18, 1947

When was an atom bomb dropped
on Hiroshima ?

(A) August6, 1945

(B) August 8, 1942

(C) AugustS, 1945

(D) August9, 1944

In which year did Britain recognise
the independence of America ?
(A) 1775 (8) 1783
(C) 1789 (D) 1813

Which imaginary line joins the 3reas
having equal rainfall ?

(A) Isobar (B) Isohyey
(C) Isotherm (D) Isohel

Name the ore from which aluminlu,n
Is extracted .
(A) Bauxite
(C) Galena

(B) Alumlralle
(D) limenite
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66.

67.

68.

69-

70,

71,

72,

73.

Ard AR5 3 QA ¥ waww wan
g g ?

(A) 1956 (B) 1962

(C) 1969 (D) 1977

1818 ¥ fFe WTqT ¥ ¥ & WA SN
T AR A@TRTel G311 417

(A) "_Fmﬁ’l (8) CUIGI]
(C) wm (D) 3%

T ARG @ YEA BT qH B
g g

(A) ST 9T g

(B) Wl wErg frgag

(C) =1.dIR. I==TIR

(D) .t mefire

NG VPR & FIY TR & TERTAT 1
WERIEY &1 dMeR-19 $7 swnaing
fearan2? '

(A) TR 15, 1947

(B) fE=ax1, 1947

(C) 3ragavzs, 1947

(D) 3mRaR 18, 1947

&R A v S e AR an 2
(A) 3T 6, 1945
(B) 3«8, 1842
(C) aTr g, 1945
(D) 3T 9, 1944

fre= 3 v od apiRe 3 wdmar &
A A2
(A) 1775 (8) 1783
(C) 1789 (D) "1813
T 79 g & W W e
FEHE @ A &7
(A) @YY@ (B) wHAWiY@
(C) woremdl (D) ey ¥
SH W T TM Oy R
g w1 Prafo e &
(A) aTwmge (8) YgfrEe
(C) frerm (D) TSIEe
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74. In which year did the United Nations
Organisation (UNO) came Into
existence ?

(A) 1939 (B) 1945
(C) 1947 (D) 1950

75. Who among the following Indlans
was not a judge of the International
Court of Justice ? '

(A) R.S. Pathak
(B) B.N.Rau

(C) Nagendra Singh
(D) K.N.Wanchoo

76. Name the scientist who first

declared that the earth revolves
around the sun.

(A) Newton
(C) Copernicus

(B) Gallleo
(D) Ptolemy

Which of the following is the most
toxicgas ?

(A) Carbon dioxide
(B) Carbon monoxide
(C) Nitrogen

(D) Hydrogen

78. Where were the Olympic Games
held In the year 2016 ?

(A) Sydney

(B) Atlanta

(C) RiodeJaneiro
(D) Barcelona

- 79.  With which of the following games Is
the Davis Cup assoclated ?

(A) Volleyball
(8) Badminton
(C) Cricket
(D) Tennls

as
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74,

75,

76.

78.

79,

frr W WIW TR W @ gy
@A ?
(A) 1838
(C) 1847

(B) 1945
(D) 1850

Prer e A /A R ¥ sl
mmwmaﬁm?

(A) IN.TH. 50T

(8) N.A.\T

(c) =i foE

(0) HX7.90Y

m&ﬁrﬁmmmmﬁmw&m
7% 9fXd foa f gt g & i s
TFHT AN & |

(A) =LA
() dRfrEw

(8) Hifera
(D) <rerh

iAo @ fe e Rt &2
(A) A SRR

(B) T WFFES

(C) g

(D) wgm

M 2016 ¥ ST A TE TV ?
(A) R

8) sreaier

() Ra-d-m

(0) arféirn

My pymrwan P e da e
(A) arefate

8) e

(€) frdre

(D) 2frm



80,

81.

82.

83.

85,

h, what

When it Is 3 pm at Greenwic od at

will be the time at a place situat
45° east longitude ?

(A) 12 noon

(8) 6pm

(C) 4pm

(D) 12 midnight

Indlan test team captaln Virat Kohli
become the first Indlan captaln to
score a double century outside India
playing agalinst

(A) England

(B) Zimbabwe

(C) West Indies

(D) South Africa

Who Is the newly elected Prime
Minister of Nepal ?

(A) ‘Baburam Bhattaral

(B) Khil Raj Regmi

(C) Pushpa Kamal Dahal

(D) Khadga Prasad Ol

The govt. has set an Inflation target of
what per cent for the next five years ?
(A) 3 percent

(B) 4 percent

(C) 5 percent

(D) 6 percent

The Parliament passed the Gg g
recently. This Is Constitutional
amendment BIIl.
(A) 121"
(€) 123"

(B) 1227
(D) 124*

Who becomes the First Indiap Wo
Member of International | ymple
Committee on 4" August, 201¢,

(A) Medha Patekar

(B) Nita Ambanli

(C) Maneka Gandhi

(D) Asha Parekh

man
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80.

81.

82.

85s.

——ﬁ

AR MR 2 57 3 pm B 2 dse
AR W R R R W gy g
(A) 12 7eames

(B) 8pm

(C) 4pm

(D) 12 ey

TR e 8 & @ AR Tied
fve 20 & e O w0 A
W TEE T A W AR
FEF T 2

(A) Fave

(8) Rrmeray

€) d=idw

(D) =fror atam

e & T Pt e =R we £ 2
(A) T Az

() fam o ¥

(C) I wwd ged

(D) TS wag 3irch

WER A I T 6} F v Ry

WRRE T Ry e Praffa e
g7

(A) 3nfrmm
(C) suferma

(B) 4wt
(D) 6 wfrea

WO A w1 € ¥ < v & Gs) Rivgs
wiRe f5ar 178 __ i <o
frs &
(A) 1213
(C) 1237

(B) 122a
(D) 1247

4 3T, 2016 T IR MfARE
i 3 wem R Ren we
CEil]

(A) FEarUreTR

(B) e amril

(C) v et

(D) 3mm U@
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g6. Choose most  appropriate
sequence from amongst the
iy alternatives provided below the
_ question,
" 1. Travel
2. Destination
3. Payment
4, Berth/Seat number
5. Reservation
6. Avallabllity of berth/seat for
reservation

87.

89.

90.

91.

92'

93.

{A} 62,5,4,3,1 (B) 5,3,4,1,6,2
C) 2,6,3,54,1 (D) 1,2,5,4,3,6

Arrange the given words In
alphabetical order and choose the one
that comes In the second position.

(A) Apology {B) Branch

(C) Antigen (D) Antique

Choose the correct alternative.
Oxygen : Burn ; : Carbon dioxide : ?
(A) Isolate (B) Foam

{C) Extinguish (D) Explode

In the following four words, three
are allke In some manner and the
fourth one is different. Choose out
odd one.
(A) Pupll
(C) Cornea

(B) Iris
(D) Medulla

Choose the missing term out of the
given alternatives.

ejo tyd Ins xch ?

(A) nrw (B) mrw

(C) msx (D) nsx

Due to reduction of 25% In price of
oranges a customer cang:urchase 4
oranges more for ¥ 16. What Is
original price of an orange?

(A) T1 (B) ¥1.33

(C) T15 (D) T 1.6

The average age of 30 students s 9
years. If the age of thelr teacher is
Included, It becomes 10 years. The
age of the teacher (in years) Is

(A) 27 (8) 31

(C) 35 (D) 40

Find the largest number which
divides 62, 132 and 237 to leave
the same reminder.
(A) 30
(C) 35

(8) 32
(D) 45

87.

B3,

90.-

91.

92.

93,

mmwm*mwﬂmm
ey W@ A :
3, T
2. Tad
i s

TR
> e & oG /e 8 ez
(A) 6,2,54,3,1 (B) 5,3,4,1,6,2
() 26,3541 (D) 1,2,5,4,3,6

T UK B ITHAER 2R
%Qmmnﬁ’x'mq? M TR TZ 7

T AaoioF B) Branch
A) Apology ranc

H Aﬁtfgen fD; Antique
¥ e o v TR |

St : AT : T SRINFIES : 7
(A) TETHIU (B) =mm
(C) gwm (D) frepre

Prefafaa YR =2t 3 39 58 ey
¥ v € o vty iy & 1 9 Ry
W 1 TG HIAT |

(B) 3mgRw

(A) e
(C) @Tiam (D) Fgem

Rt v R § ¥ o g7 @
e, q« T

ejo tyd Ins xch ?
(A) nrw

8
(C) msx (o) mrw

(D) nsx

W S T F 25% B B F TROT
% s 16 & 4 ¥R afdw @iz
UM ITe AR A A A m g ?
(A) 71 () T1.33
(€) T15 (D) T1.6

30 e o A Sw e wd & 1 Ty
ST Rveres 70 ow g e 9 g
N 7 ey 10 7 B I & | REE AR
STagid g

A B) 31

d 2 ) 2

TR T ) o Mg BT @ 62,
;_3531 :3? 7 i W @ A
{A) t’;‘l‘f ! (8) 32

Q) 35 (D) 45



g5,

97.

99,

100.

h a -l b 1-]
o f (‘5] =[;]  then the value

ofxis
1
(A 3 (8) 1
7
(€ 2 (o) 3

An electric pump can flll a tank In 3
hours. Because of a leak In the
tank, it took 3 hours 30 min to flll
the tank. In what time the leak can
draln out all the water of the tank
and will make tank empty?

(A) 10 hours (8) 13 hours
(C) 17 hours (D) 21 hours

Wright Brothers are regarded as
inventors of the
(A) Balloon

(C) . Aeroplane

(B) Bicycle
(D) Noneofthese

A body Is floating in water at 4 °C. If
temperature reaches 100 °C, then

the body will

(A) Sink fully @ K

{(B) Float freely

(C) Have some more part of |t
submerged under water

(D) Have no change In Its position

Which of the followlng gases in a|r

unites with many metals ?

(A) Hydrogen

(B) Oxygen

(C) Helium

(D) Carbon dloxide

Which organ Is affected by Trachoma ?
(A) Liver (B) Eyes
(C) Brain (D) Noneofyyegq

The human cell contains
(A) 44-chromosomes
(B) 48-chromosomes
(C) 46-chromosomes
(D) 23-chromosomes
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95,

96.

97.

98.

99.

100.

N I DY —

1

(A) 2 (8) 1

7
(€) 2 (D) 3
T faga 49 @ <3 W 3 we ¥ wan
iR Tdr TR A i3 we
30 e @m | @ ¥ E T QR O
e W ¥ ety qF Prwam ik &R
QT 8 e 2
(A) 10w
(C) 17

(B) 13w
(D) 21%e

MGe 9’ &1 T Rt S A =T &7
(A) G (B) wrEfea
(C) Frgar (D) ¥ ATE T

WRe e 4 c et 1R

AT 100 °C BY 91T &) 7% fivs

(A) gofa: g =me |

(8) AR FUAMRM AN |

(C) SH® TU 3R WM A= B o |

(D) ;ﬂ;ﬂﬂﬁ fafy 4 o oRads =8
|

P % A o W a3 e
AT TERRLE ? ™ e
(A) TRV

(B) IR~

() &feraw

(D) T TR

FOM ¥ TR o @ sife wfe
TR E?

(A) (B) %=

(C) (D) A TE
A i 3 B £

(A) 44-mHEm (B) 48-wmM
(C) 46-w=rm (D) 23-wmrm
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